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HIE (B4 an)

# U4 OO Z60AIR>TcRODBEEDBLUTDELSIKCE S,

obsl
obs2

c(5,8,10,20,7,10) #EAIS= 5 1

c(15,8,14,6,8,9) ##H =% 2

# ZThZnNOHOLRERIMNL/OEE, HIFTFER?
expected = ¢(10,10,10,10,10,10)

# BAEEHSGEINDIT 2T —FI7L—LZFRLET,

dat = data.frame(0BS1l =

Eﬁ.i\l =.ng 1 t Eﬁ. EIJE

obsl, 0BS2 = obs2, EX = expected)
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1 2 3 4 5 6 il

0: BER1 5 8 10 20 7 10 60
E: i5E (5 ALER) 10 10 10 10 10 10 60
(0-E) "2 G52 | (22| 002 | 1002 | (32| 072 | 138

{(0-B) "2}/ E 2.5 0.4 0 10 0.9 0

obsl = ¢(5,8,10,20,7,10) #&8A=5 1
expected = ¢(10,10,10,10,10,10)
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obs2 = ¢(15,8,14,6,8,9) #EHA=% 2
expected = ¢(10,10,10,10,10,10)
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"2 =13.8 t t 12 = 6.6
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chisq.test ( ) $statistic

PIFEIFIETII G K ERIMTHEH I LISER! |

# "THA4 Z%E) . RTIE

# chisqg.test (BAIENXIZ NI, p=HHFTEDOEXEDIH) TROSNFT,
#20BD5|A - AIBTEOEXERIAORBRHNMEBLEGE > TWVWEILEIHBDEFT,
# SEE, PREOREE? % Ec(1/6,1/6,1/6,1/6,1/6,1/6) L &EB DT,
result.0BS1 = chisq.test(dat$0BS1l,p = rep(1l/6,times=6))

result.0BS1lsstatistic #:E D {ED & El E [ $statisticHhiy 2(C ¥ I
#X-squared

# 13.8

#FR2ZIEDWTHRKIC

result.0BS2 = chisq.test(dat$0BS2,p = rep(1/6,times=6))
result.0BS2$statistic

#X-squared

# 6.6
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# AUBREZLIIS6ETETITVWIMELES D %Zkai2.0BS1& T %
kai2.0BS1 = sum((dat$0BS1 - dat$EX)”"2 / dat$EX)

(#[1]1 13.8)

# (0BS2D1ZH)
# OBS2Ic W LU THRKICETET S
kai2.0BS2 = sum((dat$0BS2 - dat$EX)”"2 / dat$EX)

(#[1]1 6.6 )

# CDES5ICLTHEZNDG "THHFEHLOLSOXLDODZFM, %=
# "THhaA4_%E (\2) 1 EHFUVXET,

x"2=138, x"2=6.6%"
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#eoEY A0 ZIR-> Tt Dkai.2ZEH I 3B

-getDiceKai2 = function(){
. #60EYOIOZERDODANIMILICERAULET,
dice.60 = sample(1l:6,60,replace=TRUE);

# BEHEOHBRBORIBMILZHEDEFT,
dice.6 = vector("integer",6)
for(i in 1:6){
dice.6[i] = length(which(dice.60==1))
}
# BHEOHFTEIR
dice.ex = c¢(10,10,10,10,10,10)
D # BIFELSOXALOOHKEHEERZELBEICME

sum((dice.6 - dice.ex)"2 / dice.ex);

# getDiceKai2() Z100000[E]E T L .

# TOMAEZEDHE T,
simulation = replicate(100000,getDiceKai2())

#ER/VE » T{iL25% « PR(E « F17 - L{I25% - RK(E
summary (simulation)
#Min. 1st Qu. Median Mean 3rd Qu. Max.

#0.000 2.600 4.400 5.017 6.600 31.200

# EAMNTSLODEE

# X#iE, ohSERXELIDKEL{E (35) ¥T,

# 0.2 H TRV MNILEFE

h = hist(simulation,breaks = seq(0,35,by=0.2))

Frequency
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Histogram of simulation
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# histBABIITF7ANBMTREEZHREICHD
HHMEREZEICTSICIE. 5| Tfreq=FALSEZ IE E
h = hist(simulation,breaks = seq(0,35,by=0.2),freh=FALSE)
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# getDiceKai2$%13.8(kai2.obsl) & D KEK BB EERIF ?
sum(h$density[h$breaks>=13.81%0.2,na.rm = T)#NA% # i}
#0.01711

g # getDiceKai2#%18 (kai2.obs2) & D AE < BBHEF ?

° sum(h$density[h$breaks>=6.61%0.2,na.rm = T) #NAZ%Z & i

“ #0.24703
(I) ; 1l0 115 210 2]5 310 315
12 =6.6 v"2=13.8
|
Sp 1o s ) ASHE [ 2 E)A
ZRUEDEY AEL 281 ZhU EDRY HE L 3E4150.017 (pfE)

0.24 (pfE) — BEEALL ~AREDHY
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chisq.test ( ) $p.value

PIFEIFIETII G K ERIMTHEH I LISER! |

# CDELSLHEEZ TpfEs EFES,
# TpfE)s ®F . RD Tchisq.testy TIEELBMEZEHHNICELRTE S,

result.Fl = chisq.test(dat$Fl,p = rep(1/6,times=6))
result.Fl$p.value

(#[1] 0.01693102)

# 0.01711 TS F<EPUTETWVWZ LD DN S

result.F2 = chisq.test(dat$F2,p = rep(1/6,times=6))
result.F2$p.value

(#[1] 0.2521282 )

#0.24703 TS5 F<EYUTE T W2 &M B
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- # BESEDIBRERDDICIEF. FIZIFULTOLSICT S
° kai2 = max(simulation) #Z KDY = alb—YavEhLsED S,
HFdV#6 e
repea
(BEES) # HEHENkai2k D RS BB HE ?
ratio = sum(h$density[h$breaks>kai2]+0.2,na.rm = T)
HI - # ratiod5%ZMHTLEESZEZ BT
e _ Nl # kai2Z QY YV —)LIKZYYBRLT, BODELHEZRT
- ° I - if(ratio>=0.05){
'g print(kai2)
Q break;
telse{
# ThUNIK., kai2Z0.011E< LTHXETT
kai2 = kai2 - 0.01
9 | -}
e -}
#11
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2.BERBERICEFRZHFULERTE D ?

HAZFRIRE - BEERE

FEMALE

MALE

EVEN OoDD Tl EVEN OoDD a0

0: SmER1 370 203 573 230 197 427

E: HifSE (5> H4LER) 286.5 286.5 573 2135 | 213.5 427

(0-E) "2 (83.5)"2 | (-83.5)"2 | 13944.5 (16.5)°2 | (-16.5)°2 | 544.5
{(0-E) "2}/ E 24.34 24.34 1.28 1.28

result = chisq.test(c(230,197),p = ¢(0.5,0.5))

result = chisq.test(c(370,203),p = ¢c(0.5,0.5))
result$statistic ##f 5t = (£2.55

result$statistic
#X-squared result$p.value # X-squared result$p.value #pfE>0.11
# 48.6719 #[1] 3.025703e-12 # 2.550351 # [1] 0.1102697

X2 = 2.55, pfif = 0.11

A4

BRELL

x"2 =48.7, pfg = 0.00000000000030

A4

BEREHY
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BHAIES (0) pegi B Fa#0
EVEN 370 230 600
oDD 203 197 400
A0 573 427 1000

HASES (E) gegi Bi% faF0

343.8 256.2
EVEN (573+0.6) 4270.6) 600
oDD 229.2 170.8 400
(573*%0.4) (427*%0.4)

80 573 427 1000
-E)’ "
‘OE ) £ B A
it (370-343.8) | (230-256.2) 4.68

343.8 (2.00) 256.2 (2.68) '
, (203-229.2)° | (197-170.8] 70
s 22902 (2.99) 170.8 (4.01) '
a0 4.99 6.69 11.68




chisq.test (

chisq.test (

Density

1.5

1.0

0.5

0.0

RICED [ yZFifE] [pfE] DRDHF

, correct = F) $statistics

, correct = F) $p.value

# BIRHMAIC. chisq.testZES &, EBAAIZFERHEFE- I

# (GEITIEEW) plEDXDHMSB,.

result = chisq.test(expdat$gender, expdatépreference, correct=F)
#X-squared = 11.69, df = 1, p-value = 0.0006284

result$p.value
#0.0006284205

e sn s 2 TNLLEDRY 5% LU 3WA10.063 (pf)
(BHET) —BEEH )

0.063%




